

CIN - U40102GJ2003SGC042906

PR NO	412111
RFQ NO	58012

ADVERTISED TENDER

TO,			
TO, M/s			

Name of Work
Tender Notice No
030/2020

Fabrication work under Vijapur Division As per Schedule.

Estimate cost.	Rs.299772.50
Earnest Money.	3540.00
Security Deposit.	5% of order value.
Relevant documents (By Registered Post A.D. or Speed Post only) submission date	On or before date 24.03.2020 Up to 18.00 Hrs
Date of opening of Tender fee, EMD cover and Technical Bid physical as well as online	Date: 26.03.2020 up to 12.00 Hrs
Type of tender	Item Rate.
Tender Fee	Rs.500 + 90=590 (Applicable GST Rs. 90.00)
Time Limit	1 year

Earnest money deposit will be accepted in cash or by demand draft on any schedule bank at VIJAPUR in favor of UTTAR GUJARAT VIJ COMPANY LIMITED, cheques or Bank guarantee will not be accepted. The tender without Earnest Money deposit will not be accepted. The date of D.D of EMD should be within 10 days from the date of receipt of tender.

Tender received through RPAD will be accepted.

SUPDT.ACCTT. UGVCL, DO, VIJAPUR. EXECUTIVE ENGINEER UGVCL, DO, VIJAPUR.

CIN - U40102GJ2003SGC042906



Name of Work :- Fabrication work of Line Materials for Vijapur Division.

PR NO-412111 RFQ NO-58012

UTTAR GUJARAT VIJ COMPANY LIMITED, DIVISION OFFICE, VIJAPUR					
<u>Schedule-B</u>					
Sr.No.	Description	Qty	Rate	Unit	Amount
	Fabrication of V-Xarm from				
1	65*65*6 mm M.S. Angle	2000	28.5	No	57000.00
	L-1.560 Mtr				
2	Fabrication of Top Fitting				
	From 65*65*6 or 50*50*6 mm				
	M.S.Angle & 50*6 mm M.S.flat	2000	8	No	16000.00
	Angle L:-460 mm TO 560mm Flat :-200mm				
3	Fabrication of Anchor Rod				
	from 16mm2 M.S.round bar				
	&50*50*6 or65*65*6 mm M.S. Angle	1620	7.75	No	12555.00
	Round bar L -1650mm Angle L- 225mm				
4	Fabrication of TurnBuckle				
	from 16mm2 M.S.round bar				
	&50*50*6 or65*65*6 mm M.S.Angle	1620	7.75	No	12555.00
	Round bar L -800mm Angle L- 200mm				
5	Fabrication of EyeBolt from				
	16mm2 M.S.Roundbar with				
	two nuts per eyebolt free	1600	27.75	No	44400.00
	supplied by fabricators L :-573mm				
6	Fabrication of Side Clamp				
	for 100*116RSJ Pole from 50*6 mm M.S.Flat L;-396mm	1200	4.25	No	5100.00





Uttar Gujarat Vij Company

CIN - U40102GJ2003SGC042906

7	Fabrication of Stay Clamp for 100*116RSJ Pole from 50*6 mm M.S.Flat L;-692mm	1200	7	PR	8400.00
8	Fabrication of Angle cutting				
	from65*65*6 or50*50*6 mm				
	M.S.Angle .				
	(A)2.75 Mtr With 11 Hole	1400	9.25	No	12950.00
	(B)1.20 Mtr With 8 Hole	1400	7.25	No	10150.00
	(c)0.75 Mtr With 7 Hole	1400	7.25	No	10150.00
	(D)0.60 Mtr With 5 Hole	1400	7.25	No	10150.00
	(E)1.80 Mtr With 6 Hole	1200	7.25	No	8700.00
9	Fabrication of U Clamp				
	From 50*6 mm M.S. Flat	2000	3.25	No	6500.00
	L:-385mm				
10	Fabrication of 100*50*6 mm				
	M.S.Channel Cutting	1000	17.5	No	17500.00
	L:-0.75 Mtr With 07 Hole				
11	Fabrication of 100*50*6 mm				
	M.S.Channel Cutting	100	37.5	No	3750.00
	L:-2.75 Mtr With 14 Hole				
12	Fabrication of 100*50*6 mm				
	M.S.Channel Cutting	100	26.75	No	2675.00
	L:-1.80 Mtr With 14 Hole				
13	Fabrication of Side Clamp				
	From 50*6 mm M.S. Flat	3900	4.25	No	16575.00
	for P.S.C.Pole L:-497mm				
14	Fabrication of Stay Clamp				
	From 50*6 mm M.S. Flat	4000	7	PR	28000.00
	for P.S.C.Pole L:-760mm				
15	Fabrication of 22KV V-Xarm from				
	100*50*6 mm M.S. Channel & M.S.Flat	20	104	No	2080.00
	L- 2.09 Mtr				





Uttar Gujarat Vij Company CIN - U40102GJ2003SGC042906

16	Fabrication of 3 Hole patti From 50*6 mm M.S. Flat L:-250 mm	150	3	No	450.00
17	Fabrication of Cformation from 50*50*6 or 65*65*6 mm M.S. Angle for 3 To 5 wire L:-3000 to 5000mm as per req.	50	49.5	No	2475.00
18	Fabrication of V-Xarm extinsion from 65*65*6 mm M.S.Angle & 50*6 mm M.S.Flat as per our req. L:-3.360 Mtr for Angle L:-760mm for Flat	20	48.5	No	970.00
19	Fabrication of 1.2 mtr Angle From 65x65x6 mm	20	10	No	200.00
20	Fabrication of Earthing Coil made from G.I.Wire no.8	100	8	No	800.00
21	labour charges for fabrication of 0.75 Mtr angle from 50x50x6 mm.	20	7.25	No	145.00
22	labour charges for fabrication of 0.60 Mtr angle from 50x50x6 mm.	30	7.25	No	217.50
23	labour charges for fabrication of 2750 mm angle cross arm from 50x50x6 mm.M.S. Angle	20	9.25	No	185.00
24	labour charges for fabrication of 1350 mm angle cross arm from 50x50x6 mm.M.S. Angle	20	7.25	NO	145.00
25	labour charges for fabrication of 760 mm D.O. angle from 65x65x6 mm.M.S. Angle	200	15	No	3000.00
26	labour charges for fabrication of V-Xammade from 100X50X6 mm M.S.Channel	20	52.25	No	1045.00
27	labour charge for fabrication of HT/LT extension- 1350mm	100	49.5	No	4950.00
	TOTAL -A				299772.50





Uttar Gujarat Vij Company

CIN – U40102GJ2003SGC042906					
%Above/ Below(B)					
C=TOTAL Estimated Cost RS.=A+/-	(A*B)				
D=Goods & Service tax=(Total Estimated cost	(C) X GST	%)			
E=Grand Total Including GST=(Bidder's offer(C) +	Good&ser	vice tax(D)			
Final Offer in RS					
Final Offer in Words					

Sign of Contractor

Executive Engineer UGVCL, Vijapur.



GENERAL INSTRUCTION TO TENDERERS

- 1. Sealed Tenders are invited for the work of "FABRICATION OF VARIOUS ITEMS AS PER SHEDULE-B" who have executed works of similar nature and magnitude successfully.
- 2. Date of Demand Draft should not be older than 15 Days from the last date of receiving of tender. If D.D is older & its due date is over or bank not accept the same due to any reason at the time of opening of Technical Bid, authority may reject your tender.
- 3. Tender documents are in two bids system i.e. "Technical Bid" and "Price Bid".
- 4. Technical bid should be submitted with documents as under, failing which tender is liable for rejection.
 - a. Solvency certificate issued from any Nationalized/Scheduled Bank amounting to sum equivalent of estimated cost
 - b. PAN Card
 - c. EPF Registration And EPF Paid Challan copy
 - d. Insurance copy
 - e. Latest income tax Return Copy
 - f. Work Experience certificate with copy of work order & work completion certificates of authorized officer of Distribution Company.
 - g. Labour license if applicable
 - h. GST Registration certificate If applicable

The above documents should be submitted in form of attested true copies along with technical bid.

- 5. The sealed price bids comprising of Schedule-'B' should be submitted in separate sealed envelope subscribing the envelope as "Price Bid" & also subscribing the name of the work and tender opening date etc.
- 6. Bidder must submit both Technical Bid & Price Bid separately. Failing submission any of one bid cause for rejection of tender.
- 7. Envelope without subscribing "Price Bid" or "Technical Bid" will not be accepted & Tender will be rejected.
- 8. "Price bid" of only qualifying bidders on the basis of Technical bid shall only be opened. Price of

bidders, who are not qualified technically as per requirement of technical bid shall not be opened.

- 9. The bidders shall submit their offer without any deviations in general terms and conditions of the contract or in Technical specification/items. Tenders of such deviations may also be rejected. Incomplete and conditional tenders shall not be considered.
- 10. MS Angle 50 x 50 x 6 mm / MS Angle 65 x 65 x 6 mm / MS round bar 16 mm 2 / MS Flat 50 x 6 mm / MS channel 100 x 50 x 6 mm /GI Wire No.8 will be supplied by UGVCL at your work site & Fabricated Material will be collect by UGVCL itself, if Work site should be within range of 25Km from RSO UGVCL Mehsana or From DSO UGVCL Patan.
- 11. If Work site is not within range as per Sr no.10, carting of Raw material & Fabricated material should be arrange by bidder as per instruction of E.I.C as and when require
- 12. Scrap should not be more than 2 %. No any percentage margin will not be allowed (i.e. Raw material wt. = Ready material wt. + Scrap wt.)
- 13. Tikadi & etc scrap should not credit back to UGVCL. So Bidder should bid accordingly.
- 14. Fabrication should be done as per drawings & specification / Sample & Instruction of E-I-C.
- 15. In all fabrication item of Shedule-B, Quantity may be change as per requirement within total amount of order.
- 16. Tenders, which do not fulfill all or any of the conditions of the tender of incomplete in any respect, are liable to rejection.
- 17. UTTAR GUJARAT VIJ COMPANY LTD, reserves the right to reject any or all tenders without assigning any reason thereof.

Contractor's signature with seal

Executive Engineer Vijapur.